

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM502 2-Pack		
CPL 1	1	CE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
			Skipped Option		
2	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
3	1	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
			Skipped Option Utility Circuit #2, Duplex Receptacle		
4	1	CE8RD2	Othity Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
			Skipped Option		
5	1	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
0	•	OLONDA		¥ 00.00	400.00
			Skipped Option		
6	1	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	1	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$50.00
8	1	CHC15R	STD Standard Paint Finishes Skipped Option Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$50.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
9	4	CHEP2924	End Panel 29"h x 24"w	\$ 264.00	\$1,056.00
			Skipped Option Skipped Option		
10	2	CMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$42.00
11	2	CMFM4236P2	STD Standard Paint Finishes Skipped Option Skipped Option 42"h x 36"w, Monolithic Fabric Panel, Power Harness,	\$ 665.00	\$1 330 00
11	2	GWIFWI4230FZ	Raceway Cover With Punch (2)	\$ 665.00	\$1,330.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
12	2	CMPS36	12"h x 36"	w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$660.00
				Skipped Option Skipped Option		
13	7	CMRCB01	Cutout Co	ver for Raceway Cutout Opening	\$ 17.00	\$119.00
14	2	CWS2472P		Skipped Option Skipped Option 'd, Rectangular Worksurface with 3mm PVC Edge ick, Std with 2 Scoops	\$ 367.00	\$734.00
			LP 	Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option Skipped Option		
GCU						
15	2	PN2030CU	20"d x 30" PRINCETC	w x 2.5"h, Cushion for 23"h Narrow Credenza's, DN	\$ 295.00	\$590.00
				Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
16	1	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON) \$1,546.00
			Skipped Option		
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
17	1	PN2360NCR	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$1,546.00
			Skipped Option		
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		

ALIAS SUBTOTAL: \$ 8,322.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM502 4-Pack		
CPL 18	3	CE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
19	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
20	2	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
21	2	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
22	2	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
23	2	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00

global

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
24	2	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$100.00
25	2	CHC15R	STD Standard Paint Finishes Skipped Option Skipped Option	\$ 50.00	\$100.00
26	1	CHCB2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$22.00
27	6	CHEP2924	STDStandard Paint FinishesSkipped OptionSkipped OptionEnd Panel 29"h x 24"w	\$ 264.00	\$1,584.00
28	4	CHWSSL01	Skipped Option Skipped Option Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 59.00	\$236.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
29	2	CMET42	42"h, End	d of Run Trim Insert for Panel	\$ 21.00	\$42.00
			STD 	Standard Paint Finishes Skipped Option Skipped Option		
30	4	CMFM4236P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 665.00	\$2,660.00
			STD 	Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option		
31	4	CMPS36	12"h x 36	"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$1,320.00
32	15	CMRCB01	 Cutout C	Skipped Option Skipped Option over for Raceway Cutout Opening	\$ 17.00	\$255.00
				Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
33	4	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option Skipped Option		
GCU					
34	4	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$1,180.00
			Skipped Option		
			Skipped Option		
35	2	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$3,092.00
			Skipped Option		
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
36	2	PN2360NCR	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$3,092.00



Skipped Option	
~PRNCTOP Princeton Top Finishes	
Skipped Option	
~PBODY Princeton Storage Body Laminates	
Skipped Option	
~DOOR Door / Drawer Front Finishes	
Skipped Option	

ALIAS SUBTOTAL: \$ 16,122.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM502 6-Pack		
CPL 37	5	CE8CP17	17" Mesh Jumper	\$ 120.00	\$600.00
38	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
39	3	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
40	3	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
41	3	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
42	3	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00

global

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
43	3	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
44	3	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
45	2	CHCB2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$44.00
46	8	CHEP2924	STDStandard Paint FinishesSkipped OptionSkipped OptionEnd Panel 29"h x 24"w	\$ 264.00	\$2,112.00
47	6	CHWSSL01	Skipped Option Skipped Option Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 59.00	\$354.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
48	2	CMET42	42"h, Enc	d of Run Trim Insert for Panel	\$ 21.00	\$42.00
			STD 	Standard Paint Finishes Skipped Option		
				Skipped Option		
49	6	CMFM4236P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 665.00	\$3,990.00
			STD 	Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option		
50	6	CMPS36		"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$1,980.00
				Skipped Option Skipped Option		
51	23	CMRCB01	Cutout C	over for Raceway Cutout Opening	\$ 17.00	\$391.00
				Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
52	6	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,202.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
53	6	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$1,770.00
			Skipped Option		
			Skipped Option		
54	3	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$4,638.00
			Skipped Option ~PRNCTOP Princeton Top Finishes		
			-PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
55	3	PN2360NCR	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$4,638.00



ITEM QTY. PRODUCT CODE		LIST	EXTENDED
	Skipped Option		
~PRNCT	OP Princeton Top Finishes		
	Skipped Option		
~PBOD	Y Princeton Storage Body Laminates		
	Skipped Option		
~DOOF	R Door / Drawer Front Finishes		
	Skipped Option		

ALIAS SUBTOTAL: \$ 23,804.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM502 8-Pack		
CPL 56	7	CE8CP17	17" Mesh Jumper	\$ 120.00	\$840.00
57	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
58	4	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
59	4	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
60	4	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
61	4	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00

global

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
62	4	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
63	4	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
64	3	CHCB2	STDStandard Paint FinishesSkipped OptionSkipped OptionCorner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$66.00
65	10	СНЕР2924	STDStandard Paint FinishesSkipped OptionSkipped OptionEnd Panel 29"h x 24"w	\$ 264.00	\$2,640.00
66	8	CHWSSL01	Skipped Option Skipped Option Square Support Leg, Use with Half Height Lateral Files and Storage Cabinets	\$ 59.00	\$472.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
67	2	CMET42	42"h, Enc	d of Run Trim Insert for Panel	\$ 21.00	\$42.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
68	8	CMFM4236P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 665.00	\$5,320.00
			STD 	Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option		
69	8	CMPS36	12"h x 36	"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$2,640.00
				Skipped Option Skipped Option		
70	31	CMRCB01	Cutout C	over for Raceway Cutout Opening	\$ 17.00	\$527.00
				Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
71	8	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,936.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU			Skipped Option		
900					
72	8	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$2,360.00
			Skipped Option		
			Skipped Option		
73	4	PN2360NCL	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,546.00) \$6,184.00
			Skipped Option		
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		
			Skipped Option		
			~DOOR Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
74	4	PN2360NCR	20"d x 60"w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame	\$ 1,546.00) \$6,184.00



ITEM QTY.	PRODUCT CODE			LIST	EXTENDED
			Skipped Option		
	~PRI	NCTO	P Princeton Top Finishes		
			Skipped Option		
	~PI	BODY	Princeton Storage Body Laminates		
			Skipped Option		
	~D	OOR	Door / Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
	ALIA	AS SI	JBTOTAL: \$ 31,486.00		

TOTAL EXTENDED LIST:

\$79,734.00